SET 1: WHAT IS THE OUTPUT OF THE FOLLOWING CODES?:

1) 

#include <iostream.h>

int main (){

  int j, k, n;

  n = 6;

  for (j=2; j<4; j++) {

    n /= 2;

    k = 4;

    while ( k >= 1) { 

      n += j;

      k -= 3; }

    }

  cout << n << endl;

  return 0;

}

ANSWER: 9

2) 

#include <iostream.h>

int main (){

  int j=15, n=0;

  do {

    if (j > 12) j -= 4;

    if (j >= 10) j -= 5;

    else j += n;

  } while (++n < 3);

  cout << j << endl;

  return 0;

  }

ANSWER: 9

3) 

#include <iostream.h>

int main (){

  for( int j = 1; j < 6; ++j)  cout << j++;

  cout << endl;

  return 0;

  }

ANSWER: 135

4) 

#include <iostream.h>

int main (){

  int i = 0, j = 0;

  j = 11;

  do {

    cout << j % 2 << ' ';

    i++;

    } while (j /= 2);

  return 0;

}     


ANSWER: 1 1 0 1

5) 

#include <iostream.h>

int main (){

  int i = 2, j = 4;

  while (j++ > i) i += 2;

  cout << i << ' ' << j << endl;

  return 0;

  }

ANSWER: 6 7

6) 

#include <iostream.h>

int main (){

  int j, k, p, n, m;

  j = 2; k = 4;  p = 6;

  m = 8;

  n = 0;

  if (!( m > p && k == j  || p > k))  n = n + 1;

  if ( p >= 2 || p <= j && m > k)     n = n + 1;

  if ( j <= k ||  p > m || k >= m )   n = n + 1;

  if ( k > p && (p == m  || k > j))   n = n + 1;

  cout << n << endl;

  return 0;

  }

ANSWER: 2

7) 

#include <iostream.h>

int main (){

  int i = 2, j = 4;

  while (j++ > i) i += 2;

  cout << i << ' ' << j << endl;

  return 0;

  }

ANSWER: 6 7

8) 

#include <iostream.h>

int f1(int a, int &b);

int f2(int c, int d);

void f3(int &e, int &f);

int main (){

  int x = 1, y = 2, z = 6;

  z = f1(x,y);

  f3(y,z);

  cout << f2(y,z) << endl;

  return 0;

}

int f1(int a, int &b) {

  b = 3 * a;

  return a * b;

}

int f2(int c, int d) {

  return c / 2 + d;

}

void f3(int &e, int &f) {

  int t;

  t = e;

  e = f;

  f = t;

}

ANSWER: 4

9) 

#include <iostream.h>

int f(int &, int);

int main (){

  int i=1, j=2;

  i = f(i, j);

  cout << i << j << endl;

  return 0;

}

int f(int & a, int b) {

  a--;

  ++b;

  return a+b;

}

ANSWER: 32

10) 

#include <iostream.h>

int func (int &x, int y, int z);

int main () {    

  int n1=2, n2=5;

  cout << func(n1, 8, n2) << " ";

  cout<< n1;

  return 0;

}

int func (int &i, int j, int k) {

  int a,b,y;

  if (i==10) {

    a=y=0;

  }

  else {

    a=(i+j)/k;

    b=(j+k)/i;

  }

  return b;

}

ANSWER: 6 2

11) 

#include <iostream.h>

int timechart (int i, int j);

int main(){

  int time1, time2;

  time1=timechart (11,14);

  time2=timechart (15,12);

  cout<<time1<<' '<<time2<<endl;

  return 0;

}

int timechart (int i, int j) {

  int x, y;

  if (i-j>=0)  x=j; 

  else {

    for (y=i; y>=0; y--){

      if (j%y==0){

        x=y; 

        break;

      }

    }

  }

  return x;

}

ANSWER: 7 12

12) 

#include<iostream.h>

int f1(int &a, int b);

int f2(int c, int d);

void f3(int &e, int &f);

int main(){

  int x=3,y=4,z=5; 

  z=f1(x,y);

  f3(y,z);

  cout<<f2(x,y)<<endl;

  return 0;

}

int f1(int &a, int b){

  a*=3;

  return 4*b;

}

int f2(int c, int d){ return c+d*2;}

void f3(int &e, int &f){

  int t;

  t=e;

  e=f;

  f=t;

}

ANSWER: 41

13) 

#include <iostream.h>

int fun1(int);

int fun2(float);

void fun3();

double fun4();

int fun5(int);

void fun6(int, float&);

void fun7(int=1,float k=2.5,int p=5);

void funNy(int);

void funNy(double);

float abc;

void main() {


int ival1;


float fval1;


cout<<"\n1)\n";


ival1=fun1(3);


cout<<ival1<<endl;


cout<<"\n2)\n";


fval1=4.5;


fval1=fun1(fval1);


cout<<fval1<<endl;


cout<<"\n3)\n";


fval1=4.5;


fval1=fun2(fval1);


cout<<fval1<<endl;


cout<<"\n4)\n";


fun3();


fun3();


cout<<"\n5)\n";


cout<<fun4()<<endl;


cout<<"\n6)\n";


cout<<fun5(8)<<endl;


cout<<"\n7)\n";


ival1=5;


fval1=10.55;


cout<<ival1<<" "<<fval1<<endl;


fun6(ival1,fval1);


cout<<ival1<<" "<<fval1<<endl;


cout<<"\n8)\n";


fun7(5, 7.5);


fun7();


fun7(3);


cout<<"\n9)\n";


funNy(10);


funNy(10.0);

}

int fun1(int a){


a*=2;


return a;

}

int fun2(float a){


a/=2;


cout<<a<<" ";


return a;

}

void fun3(void) {


auto float x=10.5;


register int y=50;


static double z=21.0;


x+=1.25;


y-=49;


z/=2;


cout<<x<<" "<<y<<" "<<z<<endl;

}

double fun4(){


float abc=1.5;


::abc=0.25;


cout<<abc/::abc<<"***";


{



int abc=2;



cout<<abc/::abc<<endl;


}


return abc;

}

int fun5(int j){


if (j<=1)



return 1;


if (j%2)



return j +  fun5(j-2);


return fun5(j-1);

}

void fun6(int m,float &k){


m+=2;


k+=2;


cout<<m<<" "<<k<<endl;

}

void fun7(int m,float k,int p){


m+=2;


k+=2;


p+=2;


cout<< m <<" "<< k <<" "<< p <<endl;

}

void funNy(int a) {


cout<<"Not Funny "<<(a+1)<<endl;

}

void funNy(double a){


cout<<"So Funny "<<(a-1)<<endl;

}

ANSWER: 

1)

6

2)

8

3)

2.25 2

4)

11.75 1 10.5

11.75 1 5.25

5)

6***8

1.5

6)

16

7)

5 10.55

7 12.55

5 12.55

8)

7 9.5 7

3 4.5 7

5 4.5 7

9)

Not Funny 11

    So Funny 9

SET 2: C++ CODE WRITING:

1) Write a function that returns the smallest of three floating-points

ANSWER: (ON NEXT PAGE)

#include <iostream.h>

float smallest(float x, float y, float z );

void main() {


float a,b,c;


cout << "Enter three floting point numbers:"

<<endl;


cin >> a >> b >> c;


cout << "Smallest is: "


<< smallest( a, b, c ) << endl;

}

float smallest(float x, float y, float z ) {


float small = x;


if ( y < small )



small = y;


if ( z < small )



small = z;


return small;

}

2) Write a program that simulates coin tossing. The program should print Heads or Tails. For 100 tosses, count the number of times each side of the coin appears.

#include <iostream.h>

#include <time.h>

#include <stdlib.h>

int flip (void);

int main() {


int headsCount=0,



tailsCount=0;


srand(time(NULL));


for (int ndx=1; ndx <= 100; ndx++) {



if (flip()) {




cout << "Heads" <<endl;




headsCount++;



}



else {




cout << "Tails" <<endl;




tailsCount++;



}


}


cout << "Heads = " << headsCount << endl



 << "Tails = " << tailsCount << endl;


return 0;

}

int flip() {


return rand() % 2;

}

3) An integer is said to be prime if it is divisible by 1 and itself.

Write a function to determine if a number is prime.
#include <iostream.h>

#include <math.h>

int isPrime(int);

int main() {


int primeCount=0;


for (int ndx=2; ndx <= 10000; ndx++)



if (isPrime(ndx) == 1)




primeCount++;


cout <<primeCount << endl;


return 0;

}

int isPrime(int number) {


for (int div=2; div<=number/2; div++)



if (number % div == 0)




break;


return div;

}

int isPrime(int number) {


for(int div=2;div <= static_cast<int>(sqrt(number));div++)



if (number % div == 0)




break;


return div;

}

4) An integer is said to be a perfect number if its factor, including 1 (but not the number itself), sum to the number.

Ex: 6 = 1+2+3. Write a function to determine if a number is perfect.

#include <iostream.h>

int perfect(int);

int main() {


for (int ndx=2; ndx <= 10000; ndx++) {



if (perfect(ndx)) {




cout<<ndx<<" is a perfect number " <<endl;




}


}


return 0;

}
int perfect(int number) {


int sum=0;



for (int i=2; i<=number/2; i++)




{




 if (number % i == 0)






sum+=i;




}



if (sum==number)





return 1;
// 1 means that the number is perfect



else




return 0;
// 0 means that the number is NOT perfect

}


5) The greatest common Divider of two integers is the largest integer that evenly divides each number. Write a function that returns the Greatest common Divider of two integers.

#include <iostream.h>

unsigned gCd(unsigned, unsigned);

int main() {


unsigned div,val_1, val_2;


cout << "Enter two Positive integers\n";


cout << "I will tell you the Greatest Common Divisor\n";


cin >> val_1 >> val_2;


cout << gCd(val_1,val_2);


return 0;

}

unsigned gCd(unsigned x, unsigned y) {


unsigned greatest=1,
 //holds the greatest common divisor




   smallest,      //holds the smallest of x and y


if (x<y)



smallest=x;

  else



smallest=y;


for(int i=2; i<=smallest; i++)





if (x%i==0 && y%i==0)
  //Does i divides x and y?





greatest=i;



return greatest;

}
